1. find the indicated quantity given

A= Pe ^rt

A=$36,000 ; P =? ; r = 9.3% ; t = 60 months

36,000= Pe^ .093(5 years)

Answer=$22,612.86

2. if you borrow $3,000 at 14% simple interest for 10 months, how much will you owe in 10 months? How much interest will you pay?

I=PRT

I=  3,000(.14)^5/6

Answer is $3,350 and $350   but is my work right?

3. $6,000 was put into an account how much money( to the nearest dollar) will be in the account 17 years from now if the account earns 7% compounded monthly?

I=PRT

I= .07=6,000(.17)

Answer is $19,654.42  

Please assist in the following problems the answers are provided however I need to know how to do the break downs without using excel.

4. a $10,000 retirement account is left to earn interest at 7% compounded daily.  How much will be in the account 40 years from now when the owner reaches 65? (use a 365 day year and round to the nearest dollar.)

Answer $164,402

5. What is the value of an ordinary annuity at the end of 8 years if $200/month is deposited into an account earning 7.2% compounded monthly? How much of this is interest?

Answer $25,861.65 ; $6,661.65

6. A loan of $2,500 was repaid at the end of 10 months with a check for $2,812.50 what annual rate of interest was charged?

Answer 15%

7. you have $2,500 toward the purchase of a boat that will cost $3,000 how long will it take the $2,500 to grow to $3,000 if it is invested at 9% compounded quarterly? ( round up to the next highest quarter if  not exact)

Answer 2 years and 3 months

8. If you borrow  $4,000 from an online lending firm for the purchase of a computer and agree to repay it in 48 equal installments at 0.9% interest per month on the unpaid balance, how much are your monthly payments? how much total interest will be paid?

Answer $ 102.99 ; $ 943.52

9. A company decides to establish a sinking fund to replace a piece of equipment in 6 years at an estimated cost of $50,000 to accomplish this , they decide to make fixed monthly payments into an account that pays 6.12% compounded monthly.  how much should each payment be?

Answer $576.48

10. a business borrows $80,000 at 9.42% interest compounded monthly for 8 years

a. What is the monthly payment?

b. What is the unpaid balance at the end of the first year?

c. How much interest was paid during the first year

Answer  a.  $1,189.52

              b. $2,963.07

d. $7,237.31

Thank you very much I appreciate the explanations and much needed help.

